

OFFICE OF THE SSP / PRINCIPAL

POLICE TRAINING COLLEGE SAEEDABAD, KARACHI. Ph:021-32812326, 021-32812343, Fax:021-32811217, E-mail:ptc.saeedabad.khi@gmail.com

No. 8283

/PTC/Acett:/2015/Karachi, Dated: 3 0 -04-2015.

The Managing Director Government of Sindh, Sindh Public Procurement Regulatory Authority, Sindh Karachi.

Subject: BID EVALUATION REPORT, ATTENDANCE SHEET, COMPARATIVE STATEMENT, BIDDING DOCUMENTS AND MINUTES OF MEETING.

Enclosed please find herewith the Bid Evaluation report, attendance sheet, comparative statement, bidding documents and minutes of meeting for repair / renovation work of following works to place on the web site **www.sppra.gov.pk** on account of tender of Police Training College, Saeedabad, Karachi during the current financial year 2014-15 are sent to your office for kind information.

S.#	Bid Evaluation Report
01.	Repair/renovation work of Admin block of PTC Saeedabad
02.	Repair/renovation work of 05 Barrack of PTC Saeedabad
03.	Repair/renovation work of 05 Bathroom block of PTC Saeedabad

(JAVED ALI MAHAR), PSP SSP/Principal Police Training College, Saeedabad, <u>Karachi.</u>

BID EVALUATION REPORT

I/s R	ajput Associates	Rs.3403421/-	1 st	(Lowest bid	Accepted
	1	2	3	4	5	6
Na	ume of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance/ rejection	Remarks
12.	Bid Evaluation Report:			Companieou		
			28-04-20	015		
11.	Financial Bid Opening	date	202 000-203			
10.				04	1.1.4.20	
09.	applicable)	luunnen (n	05			
09.					1. 1. 1. 1. 1.	
08.	Technical Bid Opening	date: (if applicabl	e)	28-04-2015		2121
07.	Total Bids Received		05			
06	Total Bid documents So	old	06	1213	S SAL SAL	10.
		and a standard of the statement of the s	and a subscription of the	SPPRA ID No	o. & News papers	s names)
05.	Tender Published	Roznama Jang, I				
04	Method of Procurement		Sing	le Stage Sing	le Envelope Proc	cedure
0.0.1				d Karachi.		
03.		ne of work/item	Repair R	enovation Wo	ork of Admin blo	ck of PTC
02.	Name of Procuring Age Tender Reference No:			-KRY No. 1		
01.			Sindh Police			

Chairman

2nd

3rd

4th

5th

-

-

-

-

Rs.3505150/-

Rs.3547652/-

Rs.3578556/-

Rs.3600295/-

Thurs Paul

(Javed Ali Mahar)PSP SSP/Principal PTC Saeedabad Karachi

Member-II

Rejected

Rejected

Rejected

Rejected

Bussa

Highest bid

Highest bid

Highest bid

Highest bid

(Rizwan Hussain) Sub-Engineer Works Department

Member-

4.

S #

0

2.

3.

4.

5.

M/s Shah & Co.

M/s Al Hakeem Builders

M/s Al Zaman Construction Co.

M/s The Best Engineering Co.

(Saqib Ibrahim)PSP SP/Vice Principal PTC Saeedabad Karachi

BID EVALUATION REPORT

01.	Name of Procuring Agency Si	indh Police (Police Training College Saeedabad Karachi)
02.	Tender Reference No:	INF-KRY No. 1288/15
03.	Tender Description/Name of work/item	Repair Renovation Work of 05 Nos. Barrack of PTC Saeedabad Karachi.
04	Method of Procurement	Single Stage Single Envelope Procedure
05.		aily Dawn, Awami Awaz. ic Media (SPPRA ID No. & News papers names)
06	Total Bid documents Sold	06
07.	Total Bids Received	04
08.	Technical Bid Opening date: (if applicable	28-04-2015
09.	No. of Bid technically qualified (if applicable)	04
10.	Bid(s) Rejected	03
11.	Financial Bid Opening date	28-04-2015
12.1	Bid Evaluation Report:	

<i>S</i> #	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance/ rejection	Remarks
0	1	2	3	4	5	6
1.	M/s Al Hakeem Builders	Rs.8564870/-	1 st	-	Lowest bid	Accepted
2.	M/s Shah & Co.	Rs.9021770/-	2 nd	-	Highest bid	Rejected
3.	M/s Rajput Associates	Rs.9113780/-	3rd	-	Highest bid	Rejected
4.	M/s Al Zaman Construction Co.	Rs.9937550/-	4 th	-	Highest bid	Rejected

Chairman

und Paul

(Javed Afi Mahar)PSP SSP/Principal PTC Saeedabad Karachi

Member-II

(R)Ussai

(Rizwan Hussain) Sub-Engineer Works Department

Member-I 21

.

(Saqib Ibrahim)PSP SP/Vice Principal PTC Sacedabad Karachi

BID EVALUATION REPORT

	Name of Procuring Agen	cyS				edabad Karachi)	
02. 03.	Tender Reference No: Tender Description/Nam	e of work/item	Repair R	-KRY No. 1 enovation We edabad Karad	ork of 05 Nos. Ba	athroom block of	
04	Method of Procurement		Sing	le Stage Sing	gle Envelope Pro	cedure	
05.		Roznama Jang, I (Print & Electron			az. o. & News paper.	s names)	
06	Total Bid documents Sol	d	06				
07.	Total Bids Received		04		A States		
08.	Technical Bid Opening d	late: (if applicabl	e)	28-04-2015			
09.	No. of Bid technically quapplicable)	04					
10.	Bid(s) Rejected		03				
11.	Financial Bid Opening date 28-04-2015						
12.1	Bid Evaluation Report:						
Na	me of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance/ rejection	Remarks	
	1	2	3	4	5	6	
A/s Al	Zaman Construction Co.	Rs.2401685/-	1 st		Lowest bid	Accepted	
A/s R:	ajput Associates	Rs.2469950/-	2 nd		Highest bid	Rejected	

Chairman

3rd

 4^{th}

.

.

Rs.2682425/-

Rs.3853326/-

undfand

(Javed Ali Mahar)PSP SSP/Principal PTC Saeedabad Karachi

Member-II

11san

Highest bid

Highest bid

Rejected

Rejected

(Rizwan Hussain) Sub-Engineer Works Department

Member-1 1

(Saqib Ibrahim)PSP SP/Vice Principal PTC Saeedabad Karachi

S#

0 1.

2.

3.

4.

M/s Shah & Co.

M/s Al Hakeem Builders

.

LIST OF CONTRACTORS WERE ATTENDED AT THE TIME OF OPENING TENDER OF ADMIN BLOCK ON 28-04-2015 AT PRINCIPAL OFFICE PTC SAEEDABAD KARACHI.

S.No.	Name of Contractors	Signature
01.	M/s Al Hakeem Builders	M. Nacen
02.	M/s Al Zaman Construction Co.	Wanam.
03.	M/s Bushra & Brothers	Absent
04.	M/s Rajput Associates	e framers
05.	M/s The Best Engineering Co.	Alae
06.	M/s Shah & Company	Topmel

SAOIB IBRAHIM, PSP SP/Viec Principal PTC-8aeedabad Karachi Member-I

Busser

RIZWAN HUSSAIN Sub-Engineer Works Department, Member-II

JAVED ALLI MAHAR, PSP

SSP/Principal PTC Saeedabad Karachi Chairman

.7-

LIST OF CONTRACTORS WERE ATTENDED AT THE TIME OF OPENING TENDER OF 05 NOS. BATHROOM BLOCK ON 28-04-2015 AT PRINCIPAL OFFICE PTC SAEEDABAD KARACHL

S.No.	Name of Contractors	Signature
01.	M/s Al Hakeem Builders	M. Daum
02.	M/s Al Zaman Construction Co.	Hamam
03.	M/s Bushra & Brothers	Absent
04.	M/s Rajput Associates	mat ament
05.	M/s The Best Engineering Co.	Absen1-
06.	M/s Shah & Company	Typuel

SAQIB IBRAHIM, PSP SP/vice Principal

SPAvice Principal PTC Saeedabad Karachi Member-I

Bussa

RIZWAN HUSSAIN Sub-Engineer Works Department, Member-II

JAVED ALI MAHAR, PSP SSP/Principal PTC Sacedabad Karachi Chairman

. 7

LIST OF CONTRACTORS WERE ATTENDED AT THE TIME OF OPENING TENDER OF 05 NOS. BARRACK ON 28-04-2015 AT PRINCIPAL OFFICE PTC SAEEDABAD KARACHI.

S.No.	Name of Contractors	Signature
01.	M/s Al Hakeem Builders	M. Daeen
02.	M/s Al Zaman Construction Co.	Maman.
03.	M/s Bushra & Brothers	Absen1-
04.	M/s Rajput Associates	m Hameria
05.	M/s The Best Engineering Co.	Absent-
06.	M/s Shah & Company	Toynal

SAQUE IBRAHIN, PSP SP/Vice Principal PTC Saeedabad Karachi Member-I

Russal

RIZWAN HUSSAIN Sub-Engineer Works Department, Member-II

JAVED ALI MAHAR, PSP SSP/Principal PTC Saeedabad Karachi Chairman

COMARATIVE STATEMENT REGARDING REPAIR / RENOVATION WORK OF 05 NOS. BATHROOM BLOCK OF P.T.C SAEEDABAD KARACHI.

S	4	13	2	-	S.No.
M/s The Best Engineering Co.	M/s Rajput Associates	M/s Bushra & Brothers	M/s Al Zaman Construction Co.	M/s Al Hakeem Builders	Name of Firm
				As per B.Q Supplied by company	Rate Quoted
	ks-2469950/= R= 90000/=		Rs: 24016851	Rs= 2682425 Rs= 90000/-	Amount
	R= 90000/=		R= 90000/=	Rs= 90000/	Earnest Money
He did not submill the lender documents.	Due lo brigh sale, but to brefield.	He did not submill the under decements.	Rs: 2401685/ Rs= 90000/: What he some Construction a. Rs: 2401685/ Rs= 90000/: S. 24016857 which is gyround.	Due to high sale	Remarks

M/s Shah & Company Rs = 3853326/2 R1= 118096/2 Ender is rejected rale,

2

6

SAQIB IBRAHIM, PSP PTC Saeedabad Karachi SP/Mice Principal Member-I

RIZWAN HUSSAIN Busser

Sub-Engineer Works Department,

Member-II

JAVED ALI MAHAR, PSP SSP/Principal

PTC Saeedabad Karachi Chairman

COMARATIVE STATEMENT REGARDING REPAIR / RENOVATION WORK OF 05 NOS. BARRACK OF P.T.C SAEEDABAD KARACHI.

Due to high rate, Due to high rate, tinder is refected. He did not submitted the to high hate, but to high hate, tender is refected. He did not submitte	Sofs Ry: Joscop Sof Ry: Joscop 80% Ry: Joscop	Ry: 9937550/2 Ry: 300000/2 Under to high sats Linder is referred. Linder is referred. My: 9113780/2 Ry: 300000/2 Under to Ender documents Linder is referred. My: 9113780/2 Ry: 300000/2 Under to Ender documents Linder is referred. My: 4 did not submit		M/s Al Zaman Construction Co. M/s Bushra & Brothers M/s Rajput Associates M/s The Best Engineering Co.	м w 4 г
M/S Al Hakcom Guilders, deviced the lowest rate i.e. Rs. 8564870/ which is approved.	Rs = 300000	As = 8564870/= Rs = 300000/= Will townst rate i.e. Rs.	As per B.Q Supplied by company	M/s Al Hakeem Builders	-
	Money	Amount	Quoted	Name of Firm	S.No.

6 M/s Shah & Company SAQUE TBRAHIM, PSP PTC Saeedabad Karachi SPArice Principal Member-I ì Ry= 9021770/2 Ry= 293015/2 JAVED ALI MAHAR, PSP PTC Saeedabad Karachi Jung fund SSP/Principal Chairman Sub-Engineer Works Department, **RIZWAN HUSSAIN** RMANO Member-II Due to high rate, tender is rejected.

COMARATIVE STATEMENT REGARDING REPAIR / RENOVATION WORK OF ADMIN BLOCK OF P.T.C SAEEDABAD KARACHI.

mint former wyor. S.No. 4 S N M/s Rajput Associates M/s Al Hakeem Builders M/s The Best Engineering Co. M/s Bushra & Brothers M/s Al Zaman Construction Co. Name of Firm As per B.Q Supplied by Rg= 3547652/e Ry= 1200001 Dec to Eight sale, company Linder is refected. Quoted Rate Rs= 34034212 Rs= 120000/ which is approved. Ry= 3600295/ Ry= 115000/2 Due to Enigh ral. ks = 35785566 ks = 1200001. Amount Earnest Money M/S Rajout associates offered Abser - do -Remarks

-

6 M/s Shah & Company SAQID IBICAHIM, PSP PTC Sacedabad Karachi Member-I Rs= 35051501 Rs= 1061211; Dec to digter rate, JAVED ALI MAHAR, PSP PTC Saeedabad Karachi mut land SSP/Principal Chairman ſ Sub-Engineer Works Department, **RIZWAN HUSSAIN** PHINGL Member-II

Issued & m/s AL- Zaman (a struction Co: PRINCIPAL REPAIR / RENOVATION WORK OF 05 NOS. BATHROOM BLOCK PTC SAEEDABLO

SAEED

hung

SCHEDULE BOOK DOCUMENT

1. 2. 3.	 Providing and laying of cc plaster 1:4 finished all as specified as repairing work. P/L of tiles on external walls (national) laid and joint with white or color cement 1:2 gray cement and including finishing complete. P/Laying of wall finish, coat of graphics wall coating 1.5mm thick including SCRAPING of old surface of wall any color straight and swirl in any texture all as specified. (external) Excavation as in H/ Soil upto 1.5 m depth in foundation and pipe trenches, holes upto 1.5 	2000.0 715.0 1104.0	SFT SFT SFT	28/2 148/2 23/2	56,000-
3.	and joint with white or color cement 1:2 gray cement and including finishing complete. P/Laying of wall finish, coat of graphics wall coating 1.5mm thick including SCRAPING of old surface of wall any color straight and swirl in any texture all as specified. (external) Excavation as in H/ Soil upto 1.5 m depth in				. J
	wall coating 1.5mm thick including SCRAPING of old surface of wall any color straight and swirl in any texture all as specified. (external) Excavation as in H/ Soil upto 1.5 m depth in		SFT	23/2	
4.	Excavation as in H/ Soil upto 1.5 m depth in foundation and pipe trenches, holes upto 1.5	Sec.			
	m wide, in shafts, well and independent holes upto 30 sqm each and throw earth clear of edges of excavation within 10m all as specified.	and the second se	SFT	81-	960-
5.	Providing and laying of CC type B 1:4:8, using crushed and broken stone graded as specified.	40.0	SFT	85/-	3400
D6.	Providing and laying of precast P.C.C Kerb stone, size 450x300x150mm, including setting, joining and pointing in C:M 1:4 all as specified.	160.0	RFT	155/-	24,800
17.	Scraping of old color for laying of graphics all as specified.	5 1808.0	SFT	31-	5424
8.	Providing/fixing of RCC slabs for covering of open sewerage system all as spd.	g 160.0	SFT	781	- 12,48
9.	Providing and laying of C.C Paving stone 50mm thick in any colour, as in floors drive way, walk way etc, any pattern, design and any shape (hydraulically compressed) laid and joined in sand including 50mm thic sand bed as laying course all as specified.	id 640.0 id ek	SFT	78	- 49,9



í		Earth filling as in ordinary or hard soil	La.	PRINCIPAL	5/	
	10.	filling in foundation pipe trenches, shafts, wells independents holes, under floors or around plinth etc. 1.5m below or above, ground level (GL), with spoil obtained from excavation in trenches / over areas within 10m including water and compaction in 150mm layer and dressing to required profile and shape.	960.0	CFT		7680 -
	11.	P/L of PCC solid block masonry as in damaged partitions of bath area all as spd.	199.68	CFT	158/-	31,549.
	12.	19mm thick cement plaster 1:4 finished all as spd.	800.0	SFT	381_	26,400
	13.	Repair of plaster i.e cracks,joints,jambs,etc all as spd.	2000.0	RFT	201-	26,400. 40,000.
	14.	Providing and fixing UPVC pipe fitting bathroom including Bib cock, stop cock, wash bason plastic connection etc complete.	01 Nos.	Each	20,000	
	15.	Providing and laying of PCC solid block masonry for load bearing wall as specified in building block wall including setting and jointing in CM 1:6 upto ground floor level, all as specified.	300	P.CFT	158/-	47,400
frant -	16.	Providing and laying of two coats of distemper after the preparation of surface i.e scraping, filling rubbing all as specified.	2568.0	SFT	91-	23,112
1	81	/ TOTAL=				480,33
11	11	TOTAL X 5 NOS BATHROO	MS BLOCK	1.55		240168
1/1 M	1	SAY AMOUNT IN MII	LLION		12111	2.401 (1
Burs on	it is	Columnation of the second seco	net clion	J	Busse Sub-Eng	ن_ gineer.

1. Single

188 welto m/s M/S AL- Hakeen Builders (PRINCIPAL REPAIR / RENOVATION WORK OF 05 NOS. BATHROOM BLOCK PTC SAEEDANAD

ARED

ARA

SCHEDULE BOOK DOCUMENT

S. NO.	DESCRIPTION	QUANTITY	UNITS	RATE	AMOUNT	
1.	Providing and laying of cc plaster 1:4 finished all as specified as repairing work.	2000.0	SFT	31.50/2	63000 -	
2.	P/L of tiles on external walls (national) laid and joint with white or color cement 1:2 gray cement and including finishing complete.		SFT		110825-	
3.	P/Laying of wall finish, coat of graphics wall coating 1.5mm thick including SCRAPING of old surface of wall any color straight and swirl in any texture all as specified. (external)	1104.0	SFT	24.75/	27324-	
4.	Excavation as in H/ Soil upto 1.5 m depth in foundation and pipe trenches, holes upto 1.5 m wide, in shafts, well and independent holes upto 30 sqm each and throw earth clear of edges of excavation within 10m all as specified.	120.0	SFT	10/2	12.00 -	
5.	Providing and laying of CC type B 1:4:8, using crushed and broken stone graded as specified.	40.0	SFT	95/1	3800 -	
6.	Providing and laying of precast P.C.C Kerb stone, size 450x300x150mm, including setting, joining and pointing in C:M 1:4 all as specified.	- 160.0	RFT	168/2	26880 -	
7.	Scraping of old color for laying of graphics all as specified.	1808.0	SFT	6/=	10848 -	
8.	Providing/fixing of RCC slabs for covering of open sewerage system all as spd.	160.0	SFT	86/2	13760 -	
9.	Providing and laying of C.C Paving stone 50mm thick in any colour, as in floors drive way, walk way etc, any pattern, design and any shape (hydraulically compressed) laid and joined in sand including 50mm thick sand bed as laying course all as specified.	640.0	SFT	85/_	54400 -	

hungh

Bacc

			1.0	PRINCIPAL	
10.	Earth filling as in ordinary or hard soil filling in foundation pipe trenches, shafts, wells independents holes, under floors or around plinth etc. 1.5m below or above, ground level (GL), with spoil obtained from excavation in trenches / over areas within 10m including water and compaction in 150mm layer and dressing to required profile and shape.	960.0	CFT	AARACY	9600 -
11.	P/L of PCC solid block masonry as in damaged partitions of bath area all as spd.	199.68	CFT	162/2	32348 -
12.	19mm thick cement plaster 1:4 finished all as spd.	800.0	SFT		30400-
13.	Repair of plaster i.e cracks.joints.jambs,etc all as spd.	2000.0	RFT		48000 -
14.	Providing and fixing UPVC pipe fitting bathroom including Bib cock, stop cock, wash bason plastic connection etc complete.	01 Nos.	Each		24000 -
15.	Providing and laying of PCC solid block masonry for load bearing wall as specified in building block wall including setting and jointing in CM 1:6 upto ground floor level, all as specified.	300	P.CFT	160/2	48000 -
16.	Providing and laying of two coats of distemper after the preparation of surface i.e scraping, filling rubbing all as specified.	2568.0	SFT	12.50/	32-100 ~
	TOTAL=	P 424		11 12.1	536485-
	TOTAL X 5 NOS BATHROO	OMS BLOCK		1- 1-40	2682425-
11.3	SAY AMOUNT IN MI	LLION			2.682 (11).



Bussei Sub-Engineer.

Ph:021-32812326, 021-32812343, Fax:021-32811217, E-mail:ptc.saeedabad.khi@gmail.com

Rusa

- issuel & m/s/Rajport resociates

REPAIR / RENOVATION WORK OF 05 NOS. BATHROOM BLOCK PTC SAEEDAB

ALED

PRINCIPAL

in s

P.T.C

SCHEDULE BOOK DOCUMENT

S. NO.	DESCRIPTION	QUANTITY	UNITS	RATE	AMOUNT
1.	Providing and laying of cc plaster 1:4 finished all as specified as repairing work.	2000.0	SFT	29	58000 -
2.	P/L of tiles on external walls (national) laid and joint with white or color cement 1:2 gray cement and including finishing complete.	715.0	SFT	150	107250 -
3.	P/Laying of wall finish, coat of graphics wall coating 1.5mm thick including SCRAPING of old surface of wall any color straight and swirl in any texture all as specified. (external)	1104.0	SFT	24	26496 -
4.	Excavation as in H/ Soil upto 1.5 m depth in foundation and pipe trenches, holes upto 1.5 m wide, in shafts, well and independent holes upto 30 sqm each and throw earth clear of edges of excavation within 10m all as specified.	120.0	SFT	8.50	1020 —
5.	Providing and laying of CC type B 1:4:8, using crushed and broken stone graded as specified.	40.0	SFT	86	3440 -
aug 6.	Providing and laying of precast P.C.C Kerb stone, size 450x300x150mm, including setting, joining and pointing in C:M 1:4 all as specified.	160.0	RFT	156	24960
107.	Scraping of old color for laying of graphics all as specified.	1808.0	SFT	3.75	6780 -
Kit	Providing/fixing of RCC slabs for covering of open sewerage system all as spd.	160.0	SFT	79	12640 -
9.	Providing and laying of C.C Paving stone 50mm thick in any colour, as in floors drive way, walk way etc, any pattern, design and any shape (hydraulically compressed) laid and joined in sand including 50mm thick sand bed as laying course all as specified.	640.0	SFT	80	51200



	*	Earth filling as in ordinary or hard soil filling in foundation pipe trenches, shafts, wells independents holes, under floors or around plinth etc. 1.5m below or above,	n in de Liter i	O'L'OPRINCI	11511	
	10.	ground level (GL), with spoil obtained from excavation in trenches / over areas within 10m including water and compaction in 150mm layer and dressing to required profile and shape.	960.0	CFT	8.20	8160 -
	11.	P/L of PCC solid block masonry as in damaged partitions of bath area all as spd.	199.68	CFT	160	31948 -
	12.	19mm thick cement plaster 1:4 finished all as spd.	800.0	SFT	34	27200 -
	13.	Repair of plaster i.e cracks, joints, jambs, etc all as spd.	2000.0	RFT	21	42000 -
	14.	Providing and fixing UPVC pipe fitting bathroom including Bib cock, stop cock, wash bason plastic connection etc complete.	01 Nos.	Each	20500	20500-
	15.	Providing and laying of PCC solid block masonry for load bearing wall as specified in building block wall including setting and jointing in CM 1:6 upto ground floor level, all as specified.	300	P.CFT	160	48000-
and	16.	Providing and laying of two coats of distemper after the preparation of surface i.e scraping, filling rubbing all as specified.	2568.0	SFT	9.50	24396-
1	1	TOTAL=	1.713163			493990
//	1.1	TOTAL X 5 NOS BATHROO	MS BLOCK			2469950
, K	1	SAY AMOUNT IN MI	LLION	1.1.1.	1 5 1 - 1	2.46 (m)
Russa	A A A A A A A A A A A A A A A A A A A		sadiare	S	<u>)USSe</u> Sub-Eng	<u>i</u> gineer.

185 red to M/S Shah & Can Pany. REPAIR/RENOVATION WORK OF 05 NOS. BATHROOM BLOCK PTC

REEDA

PRINCIPA

SCHEDULE BOOK DOCUMENT

S. NO.	DESCRIPTION	QUANTITY	UNITS	RATE	AMOUNT	
1.	Providing and laying of cc plaster 1:4 finished all as specified as repairing work.	2000.0	SFT	54.0	108000	
2.	P/L of tiles on external walls (national) laid and joint with white or color cement 1:2 gray cement and including finishing complete.		SFT	170.0	121550	
3.	P/Laying of wall finish, coat of graphics wall coating 1.5mm thick including SCRAPING of old surface of wall any color straight and swirl in any texture all as specified. (external)	1104.0	SFT	.50.0	55200	
4.	Excavation as in H/ Soil upto 1.5 m depth in foundation and pipe trenches, holes upto 1.5 m wide, in shafts, well and independent holes upto 30 sqm each and throw earth clear of edges of excavation within 10m all as specified.	120.0	SFT	8.0	960	
5.	Providing and laying of CC type B 1:4:8, using crushed and broken stone graded as specified. Providing and laying of precast P.C.C Kerb stone, size 450x300x150mm, including setting, joining and pointing in C:M 1:4 all as specified.		SFT	120.0	4800	
6.			RFT			
n	Scraping of old color for laying of graphics all as specified.	1808.0	SFT	20	36160	
1,8.	Providing/fixing of RCC slabs for covering of open sewerage system all as spd.	160.0	SFT	290.87	46 539.2	
9.	Providing and laying of C.C Paving stone 50mm thick in any colour, as in floors drive way, walk way etc, any pattern, design and any shape (hydraulically compressed) laid and joined in sand including 50mm thick sand bed as laying course all as specified.		SFT	75	48000	

	,		SAEEDAA			
14	0.	Earth filling as in ordinary or hard soil filling in foundation pipe trenches, shafts, wells independents holes, under floors or around plinth etc. 1.5m below or above, ground level (GL), with spoil obtained from excavation in trenches / over areas within 10m including water and compaction in 150mm layer and dressing to required profile and shape.	960.0	CFT	10	9600
1	1.	P/L of PCC solid block masonry as in damaged partitions of bath area all as spd.	199.68	CFT	200	39936
12	2.	19mm thick cement plaster 1:4 finished all as spd.	800.0	SFT	54	43200
13	3.	Repair of plaster i.e cracks.joints.jambs,etc all as spd.	2000.0	RFT	60	120000
14	1.	Providing and fixing UPVC pipe fitting bathroom including Bib cock, stop cock, wash bason plastic connection etc complete.	01 Nos.	Each	7000	7000
15	5.	Providing and laying of PCC solid block masonry for load bearing wall as specified in building block wall including setting and jointing in CM 1:6 upto ground floor level, all as specified.	300	P.CFT	260	60000
16	5.	Providing and laying of two coats of distemper after the preparation of surface i.e scraping, filling rubbing all as specified.	2568.0	SFT	15	38520
		TOTAL=			1	770,665.20
$\Lambda \Lambda$	1	TOTAL X 5 NOS BATHROC	OMS BLOCK		1 12	3853326
Vr	1	SAY AMOUNT IN MI	LLION		1 S. L.	3.853326

SHAH & CON ON Hoprietor

(R)ussei Sub-Engineer.

Busar

Ph:021-32812326, 021-32812343, Fax:021-32811217, E-mail:ptc.saeedabad.khi@gmail.com

REPAIR / RENOVATION WORK OF 05 NOS. BARRACKS (NO.12 TO 16) OF

PTC SAEEDABAD. ISsued to m/s Al-Halleen Builders SAEED

S.NO	DESCRIPTION	QUANTITY	UNITS	RATE	AMOUNT
1.	P/Laying of wall finish, coat of graphics wall coating 1.5mm thick including SCRAPING of old surface of wall any colour straight and swirl in any texture all as specified. (external)	20000.0	SFT	36.50	730,000 -
2.	Providing and laying of two coats of distemper after the preparation of surface i.e scraping, filling rubbing all as specified.	12958.0	SFT	12/=	155496- 4800 -
3.	Excavation as in H/ Soil upto 1.5 m depth in foundation and pipe trenches, holes upto 1.5 m wide, in shafts, well and independent holes upto 30 sqm each and throw earth clear of edges of excavation within 10m all as specified.	800.0	CFT	6/=	4800 —
4.	Providing and laying of CC type B 1:4:8, using crushed and broken stone graded as specified.	250.0	CFT	120/2	30,000 -
5.	Providing and laying of precast P.C.C Kerb stone, size 450x300x150mm, including setting, joining and pointing in C:M 1:4 all as specified.	812.0	CFT	180/2	30,000 - 146160-
6.	Earth filling as in ordinary or hard soil filling in foundation pipe trenches, shafts, wells independents holes, under floors or around plinth etc. 1.5m below or above, ground level (GL), with spoil obtained from excavation in trenches / over areas within 10m including water and compaction in 150mm layer and dressing to required profile and shape.	6090.0	CFT	6/=	36540 -
il	Providing and laying of C.C Paving stone Summ thick in any colour, as in floors drive way, walk way etc, any pattern, design and any shape (hydraulically compressed) laid and joined in sand including Somm thick sand bed as laying course all as specified.	4060.0	SFT	120/2	487200-
8.	Repairing work of Iron Window	72	EACH	999/	71928 -
9.	Repairing & Paint work of Doors	12	EACH	1700/-	20400 -
10.	Electric wiring and new switch board.	105	POINT	290/2	30450-
	TOTAL		-	(-	1712974-
10	TOTAL X5 NOS BARRAG	CKS		-	8564870-
	SAY AMOUNT IN MILLI	ON		10.11	8.564(0)

matr

RUNSO

Sub-Engineer.

Russer

PRINCIPA

Ph: 021-32812326, 021-32812343, Fax: 021-32811217,Email:ptc.saeedabad.khi@gmail.com

REPAIR / RENOVATION WORK OF 05 NOS. BARRACKS (NO. 12 TO 16) OF PTC SAEEDABAD.



SCHEDULE BOOK DOCUMENT

S.NO	DESCRIPTION	QUANTITY	UNITS	RATE	AMOUNT
1.	P/Laying of wall finish, coat of graphics wall coating 1.5mm thick including SCRAPING of old surface of wall any colour straight and swirl in any texture all as specified. (external)	20000.0	SFT	40.0	800000
2.	Providing and laying of two coats of distemper after the preparation of surface i.e scraping, filling rubbing all as specified.	12958.0	SFT	15.0	194300
3.			6400		
4.	Providing and laying of CC type B 1:4:8, using crushed and broken stone graded as specified.	250.0	CFT	120.0	30 000
5.	Providing and laying of precast P.C.C Kerb stone, size 450x300x150mm, including setting, joining and pointing in C:M 1:4 all as specified.	812.0	CFT	245.0	1989.40
6.	Earth filling as in ordinary or hard soil filling in foundation pipe trenches, shafts, wells independents holes, under floors or around plinth etc. 1.5m below or above, ground level (GL), with spoil obtained from excavation in trenches / over areas within 10m including water and compaction in 150mm layer and dressing to required profile and shape.	6090.0	CFT	150	91350
r. Dr	Providing and laying of C.C Paving stone 50mm thick in any colour, as in floors drive way, walk way etc, any pattern, design and any shape (hydraulically compressed) laid and joined in sand including 50mm thick sand bed as laying course all as specified.	4060.0	SFT	85.0	345100
8. N	Repairing work of Iron Window	72	EACH	1000	72000
\$.J	Repairing & Paint work of Doors	12	EACH	2022	24264
10.	Electric wiring and new switch board.	105	POINT	400	42000
/	TOTAL				1804354
	TOTAL X5 NOS BARRA	CKS			9021770
	SAY AMOUNT IN MILL	ION			9.02177

SHAH & COMPANY

Proprietor

Sub-Engineer.

Ph: 021-32812326, 021-32812343, Fax: 021-32811217, Email:ptc.saeedabad.khi@gmail.com

REPAIR / RENOVATION WORK OF 05 NOS. BARRACKS (NO.12 TO 16) OF

PTC SAEEDABAD. Issued to n/s The Kappool Associates

S.NO	DESCRIPTION	QUANTITY	UNITS	RATE	AMOUNT
1.	P/Laying of wall finish, coat of graphics wall coating 1.5mm thick including SCRAPING of old surface of wall any colour straight and swirl in any texture all as specified. (external)	20000.0	SFT	41	82000
2.	Providing and laying of two coats of distemper after the preparation of surface Le scraping, filling rubbing all as specified.	12958.0	SFT	9.50	123101
3.	Excavation as in H/ Soil upto 1.5 m depth in foundation and pipe trenches, holes upto 1.5 m wide, in shafts, well and independent holes upto 30 sqm each and throw earth clear of edges of excavation within 10m all as specified.	800.0	CFT	8 · Sp.	6800 -
4.	Providing and laying of CC type B 1:4:8, using crushed and broken stone graded as specified.	250.0	CFT	130	32500
5.	Providing and laying of precast P.C.C Kerb stone, size 450x300x150mm, including setting, joining and pointing in C:M 1:4 all as specified.	812.0	CFT	190	154280
6,	Earth filling as in ordinary or hard soil filling in foundation pipe trenches, shafts, wells independents holes, under floors or around plinth etc. 1.5m below or above, ground level (GL), with spoil obtained from excavation in trenches / over areas within 10m including water and compaction in 150mm layer and dressing to required profile and shape.	6090.0	CFT	7.50	45675
7.	Providing and laying of C.C Paving stone 50mm thick in any colour, as in floors drive way, walk way etc, any pattern, design and any shape (hydraulically compressed) laid and joined in sand including 50mm thick sand bed as laying course all as specified.	4060.0	SFT	128	519680
8.	Repairing work of Iron Window	72	EACH	810	58320
19	Repairing & Paint work of Doors	12	EACH	2400	28800
10.	Electric wiring and new switch board.	105	POINT	320	33600-
it	TOTAL				1822756
Y	TOTAL X5 NOS BARRA	CKS			9113780
-	SAY AMOUNT IN MILL	ION	-		9.11(M)



RANDO

Usser

Sub-Engineer.

RINCIPAL

Ph: 021-32812326, 021-32812343, Fax: 021-32811217, Email:ptc.saeedabad.khl@gmall.com

REPAIR / RENOVATION WORK OF 05 NOS. BARRACKS (NO.12 TO 16) OF

PTC SAEEDABAD. Issued & M/S AL-Zaman Construction Co.

SCHEDULE BOOK DOCUMENT

S.NO	DESCRIPTION	QUANTITY	UNITS	RATE	AMOUNT
1	P/Laying of wall finish, coat of graphics wall coating 1.5mm thick including SCRAPING of old surface of wall any colour straight and swirl in any texture all as specified. (external)	20000.0	SFT	42-	8,49000
2.	Providing and laying of two coats of distemper after the preparation of surface Le scraping, filling rubbing all as specified.	12958.0	SFT	15/-	194,370
3.	Excavation as in H/ Soil upto 1.5 m depth in foundation and pipe trenches, holes upto 1.5 m wide, in shafts, well and independent holes upto 30 sqm each and throw earth clear of edges of excavation within 10m all as specified.	800.0	CFT	101-	80007.
4,	Providing and laying of CC type 8 1:4:8, using crushed and broken stone graded as specified.	250.0	CFT	1401-	35,000 .
5.	Providing and laying of precast P.C.C Kerb stone, size 450x300x150mm, including setting, joining and pointing in C:M 1:4 all as specified.	812.0	CFT	1959-	158,349
6.	Earth filling as in ordinary or hard soil filling in foundation pipe trenches, shafts, wells independents holes, under floors or around plinth etc. 1.5m below or above, ground level (GL), with spoil obtained from excavation in trenches / over areas within 10m including water and compaction in 150mm layer and dressing to required profile and shape.	6090.0	CFT	9]-	54,819
7.	Providing and laying of C.C Paving stone 50mm thick in any colour, as in floors drive way, walk way etc, any pattern, design and any shape (hydraulically compressed) laid and joined in sand including 50mm thick sand bed as laying course all as specified.	4060.0	SFT	135]-	548,1007
8. /	Repairing work of Iron Window	72	EACH	12001-	86,4001-
M	Repairing & Paint work of Doors	12	EACH	26001.	31,2001-
10	Electric wiring and new switch board.	105	POINT	2981-	31,2901.
	TOTAL TOTAL X5 NOS BARRAG	xs		1	1987510
_	SAY AMOUNT IN MILLI	ON			9.937 m

mpla

Russa Sub-Engineer.

Ph: 021-32812326, 021-32812343, Fax: 021-32811217,Email:ptc.saeedabad.khi@gmail.com



1ssued to m/s AL-Zaman Construction Co:

REPAIR / RENOVATION WORK OF PTC SAEEDABAD. REPAIR/RENOVATION WORK OF ADMIN BLOCK. SCHEDULE BOOK DOCUMENT



DESCRIPTION S. NO. QUANTITY UNITS RATE AMOUNT Excavation as in H/ Soil upto 1.5 m depth in foundation and pipe trenches, holes upto 1.5 m wide, in shafts, well and 2205-367.50 CFT 1. independent holes upto 30 sqm each and throw earth clear of edges of excavation within 10m all as specified. Providing and laying of CC type B 1:4:8, 19,086-0. 2. using crushed and broken stone graded as 123.0 CFT 82 specified. Providing and laying of precast P.C.C Kerb stone, size 450x300x150mm, 155/-75,950-0. 490.0 RFT 3. including setting, joining and pointing in C:M 1:4 all as specified. Earth filling as in ordinary or hard soil filling in foundation pipe trenches, shafts, wells independents holes, under floors or around plinth etc. 1.5m below 22,116-0. 6/-CFT or above, ground level (GL), with spoil 3686.0 4. obtained from excavation in trenches / over areas within 10m including water and compaction in 150mm layer and dressing to required profile and shape. Providing and laying of C.C Paving stone 50mm thick in any colour, as in floors drive way, walk way etc, any pattern, 781- 54,600-0. SFT 700.0 5. design and any shape (hydraulically compressed) laid and joined in sand including 50mm thick sand bed as laying course all as specified. Providing and fixing of false ceiling 392,875-0 SFT 3143.0 1251_ 6 24"x24"gypsum including all necessary fittings all as specified. Providing and laving of national tiles laid and joint with neat cement 1:2 in any SFT 170,544-0. 7. 1122.0 pattern design and all as specified.(dadus) P/Laying of wall finish, coat of graphics wall coating 1.5mm thick including 381_ 285,000-0. SFT SCRAPING of old surface of wall any 7500.0 8. colour straight and swirl in any texture all as specified.(internal)



- 1			-	C. PRINCI	12/	
	9.	Providing and laying of bath tiles in principle room bath glazed imported including all fittings of u.p.v.c pipes fixtures accessories i.e wash hand basin,water closet,(eurpeon) mirror,granite marble top,(all fixtures made by grohee.)all as specified.complete job.	01 job	KAR	A	197,000-0.
	10.	Providing and laying of two coats of distemper after the preparation of surface i.e scraping, filling rubbing all as specified.	1800.0	SFT	16/-	28,800-0.
	11.	Providing and fixing of aluminium door and windows deluxe model complete with glass and all necessary fittings all as specified.	82.0	SFT	655/-	53,710-0.
	12.	Repair of back side bath room including 03 nos bath with laying of tiles,false ceiling,wooden doors, aluminum window,all fittings of u.p.v.c pipes,fixtures i.e wash hand basin,water closet(imported)urinals etc. all as specified complete job.	01 job	EACH	270,000	270,000-1
	13.	Repair of back side kitchen including laying of tiles,false ceiling,wooden doors,aluminum window,all fittings of u.p.v.c pipes,fixtures i.e sink,marble top(granite) kitchen accessories etc. all as specified complete job.	01 job	EACH	175,000	175,000-
	14.	Providing and laying of artificial stone face tiles as in front elevation.all as specified.	1988.0	SFT	1651-	328,020.
Thunk Court	15.	Electrical works such as holder, switch, socket, fan point, door bell, power plugs, light point, etc, including wire 3-29/7-29 where as required including lights all as specified.	120.00 NOS	EACH	1525-	183,000-
1 des	14	P/Laying of wall finish, coat of graphics wall coating 1.5mm thick including SCRAPING of old surface of wall any colour straight and swirl in any texture all as specified. (external)	4550.0	SFT	45]-	204750
· Ny	17.	P/L of tiles on external walls(national) laid and joint with white or colour cement 1:2 gray cement and including finishing complete.	1050.00	SFT	158/-	165,900-



Russe

				C. PRINCIPAL	SI
18.	Construction of two nos security watch tower on the top of admin block front side 6x6 complete job.	01 job	EACH	135,000	135,000 -
19.	Providing and fixing of wall bracket fans all as specified.(pak fan or equalent)all as specified.	50.0nos	EACH	3750/-	187,500-
20.	Providing and fixing of precaust R.c.c shade complete with R.C.C Columns,beams,griders,lintel,CC plaster colouring for the use of car and motorcycle parking etc. all as apecified.	900.0	SFT	435/-	3,91,500-
21.	Providing and laying of S.S GRILL for passage opening windows up to 2.5 feet height with gola complete with all necessary fittings all as specified.	100.0	RFT	2450-	245,000-
	Total				3578,556
_	TOTAL AND SAY AMOUNT	IN MILLIO	N		3.578 (m)



Bussoi Sub-Engineer.

1151-421



wy Buser

Ph:021-32812326, 021-32812343, Fax:021-32811217, E-mail:ptc.saeedabad.khi@gmail.com

Issuedt m/s The Best Engineering CO, ("PRINCIPAL



REPAIR / RENOVATION WORK OF PTC SAEEDABAD. REPAIR/RENOVATION WORK OF ADMIN BLOCK.

SCHEDULE BOOK DOCUMENT

S. NO.	DESCRIPTION	QUANTITY	UNITS	RATE	AMOUNT
1.	Excavation as in H/ Soil upto 1.5 m depth in foundation and pipe trenches, holes upto 1.5 m wide, in shafts, well and independent holes upto 30 sqm each and throw earth clear of edges of excavation within 10m all as specified.	367.50	CFT	50	18375
2.	Providing and laying of CC type B 1:4:8, using crushed and broken stone graded as specified.	123.0	CFT	1.50	18450
3	Providing and laying of precast P.C.C Kerb stone, size 450x300x150mm, including setting, joining and pointing in C:M 1:4 all as specified.	490.0	RFT	250	122500
4.	Earth filling as in ordinary or hard soil filling in foundation pipe trenches, shafts, wells independents holes, under floors or around plinth etc. 1.5m below or above, ground level (GL), with spoil obtained from excavation in trenches / over areas within 10m including water and compaction in 150mm layer and dressing to required profile and shape.		CFT	25	92150
5.	Providing and laying of C.C Paving stone 50mm thick in any colour, as in floors drive way, walk way etc, any pattern, design and any shape (hydraulically compressed) laid and joined in sand including 50mm thick sand bed as laying course all as specified.	700.0	SFT	100	70000
6.	Providing and fixing of false ceiling 24"x24"gypsum including all necessary fittings all as specified.	3143.0	SFT	160	502880
7.	Providing and laying of national tiles laid and joint with neat cement 1:2 in any design and pattern all as specified.(dadus)	1122.0	SFT	170	190740
8.	P/Laying of wall finish, coat of graphics wall coating 1.5mm thick including SCRAPING of old surface of wall any colour straight and swirl in any texture all as specified.(internal)	7500.0	SFT	60	450000

• ••			10	PRINCIPAL	QP0 *	
•	9.	Providing and laying of bath tiles in principle room bath glazed imported including all fittings of u.p.v.c pipes fixtures accessories i.e wash hand basin,water closet,(eurpeon) mirror,granite marble top,(all fixtures made by grohee.)all as specified.complete job.	01 job	KARA	21	Joaces
	10.	Providing and laying of two coats of distemper after the preparation of surface i.e scraping, filling rubbing all as specified.	1800.0	SFT	30	54000
	11.	Providing and fixing of aluminium door and windows deluxe model complete with glass and all necessary fittings all as specified.	82.0	SFT	1000	82000
	12.	Repair of back side bath room including 03 nos bath with laying of tiles,false ceiling,wooden doors, aluminum window,all fittings of u.p.v.c pipes,fixtures i.e wash hand basin,water closet(imported)urinals etc. all as specified complete job.	01 job	EACH	100000	100000
	13.	Repair of back side kitchen including laying of tiles,false ceiling,wooden doors,aluminum window,all fittings of u.p.v.c pipes,fixtures i.e sink,marble top(granite) kitchen accessories etc. all as specified complete job.	01 job	EACH	50000	5 <i>00</i> 00
	14.	Providing and laying of artificial stone face tiles as in front elevation.all as specified.	1988.0	SFT	150	298200
Tunipla	15. uB	Electrical works such as holder, switch, socket, fan point, door bell, power plugs, light point, etc, including wire 3-29/7-29 where as required including lights all as specified.	120.00 NOS	EACH	750	90000
mit .	16.	P/Laying of wall finish, coat of graphics wall coating 1.5mm thick including SCRAPING of old surface of wall any colour straight and swirl in any texture all as specified. (external)	4550.0	SFT	60	273000
Huy	ul 17.	P/L of tiles on external walls(national) laid and joint with white or colour cement 1:2 gray cement and including finishing complete.	1050.00	SFT	160	168000

Burse

	TOTAL AND SAY AMOUNT	IN MILLIO	N		
	Total				36002
21.	Providing and laying of S.S GRILL for passage opening windows up to 2.5 feet height with gola complete with all necessary fittings all as specified.	100.0	RFT	1000	100000
20.	Providing and fixing of precaust R.c.c shade complete with R.C.C Columns, beams, griders, lintel, CC plaster colouring for the use of car and motorcycle parking etc. all as apecified.	900.0	SFT	100	90000
19.	Providing and fixing of wall bracket fans all as specified.(pak fan or equalent)all as specified.	50.0nos	EACH	7000	350000
18.	Construction of two nos security watch tower on the top of admin block front side 6x6 complete job.	01 job	EACH	380000	380000

Busse

Bussoi Sub-Engineer.

fund and

REED PRINCIPAL

Ph:021-32812326, 021-32812343, Fax:021-32811217, E-mail:ptc.saeedabad.khi@gmail.com

Issued & m/s The Rig Post Associates (PRINCIPAL



REPAIR / RENOVATION WORK OF PTC SAEEDABAD. REPAIR/RENOVATION WORK OF ADMIN BLOCK.

hump

SCHEDULE BOOK DOCUMENT

5. NO.	DESCRIPTION	QUANTITY	UNITS	RATE	AMOUNT
1.	Excavation as in H/ Soil upto 1.5 m depth in foundation and pipe trenches, holes upto 1.5 m wide, in shafts, well and independent holes upto 30 sqm each and throw earth clear of edges of excavation within 10m all as specified.	367.50	CFT	5'	1837—
2.	Providing and laying of CC type B 1:4:8, using crushed and broken stone graded as specified.	123.0	CFT	80	9840-
3.	Providing and laying of precast P.C.C Kerb stone, size 450x300x150mm, including setting, joining and pointing in C:M 1:4 all as specified.	490.0	RFT	153	74,970-
4.	Earth filling as in ordinary or hard soil filling in foundation pipe trenches, shafts, wells independents holes, under floors or around plinth etc. 1.5m below or above, ground level (GL), with spoil obtained from excavation in trenches / over areas within 10m including water and compaction in 150mm layer and dressing to required profile and shape.	3686.0	CFT	4	14744 -
· 5.	Providing and laying of C.C Paving stone 50mm thick in any colour, as in floors drive way, walk way etc, any pattern, design and any shape (hydraulically compressed) laid and joined in sand including 50mm thick sand bed as laying course all as specified.	700.0	SFT	74	51800 -
6.	Providing and fixing of false ceiling 24"x24"gypsum including all necessary fittings all as specified.	3143.0	SFT	120	377,160
7.	Providing and laying of national tiles laid and joint with neat cement 1:2 in any design and pattern all as specified.(dadus)	1122.0	SFT	149	167,178
8.	P/Laying of wall finish, coat of graphics wall coating 1.5mm thick including SCRAPING of old surface of wall any colour straight and swirl in any texture al as specified.(internal)	g 7500.0	SFT	35	2 62,500



-			lles	PRINCIPA	1211	
	9.	Providing and laying of bath tiles in principle room bath glazed imported including all fittings of u.p.v.c pipes fixtures accessories i.e wash hand basin,water closet,(eurpeon) mirror,granite marble top,(all fixtures made by grohee.)all as specified.complete job.	1100	each	SI	190,000-
	10.	Providing and laying of two coats of distemper after the preparation of surface i.e scraping, filling rubbing all as specified.	1800.0	SFT	14	25,200 -
	11.	Providing and fixing of aluminium door and windows deluxe model complete with glass and all necessary fittings all as specified.	82.0	SFT	650	53,300-
	12.	Repair of back side bath room including 03 nos bath with laying of tiles,false ceiling,wooden doors, aluminum window,all fittings of u.p.v.c pipes,fixtures i.e wash hand basin,water closet(imported)urinals etc. all as specified complete job.	01 job	EACH	263,000	2,63,000-
	13.	Repair of back side kitchen including laying of tiles,false ceiling,wooden doors,aluminum window,all fittings of u.p.v.c pipes,fixtures i.e sink,marble top(granite) kitchen accessories etc. all as specified complete job.	01 job	EACH	(67,000)	162,000 -
	14.	Providing and laying of artificial stone face tiles as in front elevation.all as specified.	1988.0	SFT	159	316,092.
metani	15.	Electrical works such as holder, switch, socket, fan point, door bell, power plugs, light point, etc, including wire 3-29/7-29 where as required including lights all as specified.	120.00 NOS	EACH	1495	179,400
and and	16.	P/Laying of wall finish, coat of graphics wall coating 1.5mm thick including SCRAPING of old surface of wall any colour straight and swirl in any texture all as specified. (external)	4550.0	SFT	35	159,250
H	17.	P/L of tiles on external walls(national) laid and joint with white or colour cement 1:2 gray cement and including finishing complete.	1050.00	SFT	153	160,650



Dune

		-	P.T.C.	PRINCIPAL	
18.	Construction of two nos security watch tower on the top of admin block front side 6x6 complete job.	01 job	EACH	TARAC	125,000-
19,	Providing and fixing of wall bracket fans all as specified.(pak fan or equalent)all as specified.	50.0nos	EACH	3700	185,000 -
20.	Providing and fixing of precaust R.c.c shade complete with R.C.C Columns,beams,griders,lintel,CC plaster colouring for the use of car and motorcycle parking etc. all as apecified.	900.0 ·	SFT	425	382,500-
21.	Providing and laying of S.S GRILL for passage opening windows up to 2.5 feet height with gola complete with all necessary fittings all as specified.	100.0	RFT	2420	242,000-
	Total				3403421-
	TOTAL AND SAY AMOUNT	IN MILLIO	N		3.403 (m



Bussoi Sub-Engineer.

Frent July Ruser

Ph:021-32812326, 021-32812343, Fax:021-32811217, E-mail:ptc.saeedabad.khi@gmail.com

Issued to M/S AL-Hakaem Builders.



REPAIR / RENOVATION WORK OF PTC SAEEDABAD. REPAIR/RENOVATION WORK OF ADMIN BLOCK. SCHEDULE BOOK DOCUMENT

S. NO.	DESCRIPTION	QUANTITY	UNITS	RATE	AMOUNT
1.	Excavation as in H/ Soil upto 1.5 m depth in foundation and pipe trenches, holes upto 1.5 m wide, in shafts, well and independent holes upto 30 sqm each and throw earth clear of edges of excavation within 10m all as specified.	367.50	CFT	7.50/2	2756 —
2.	Providing and laying of CC type B 1:4:8, using crushed and broken stone graded as specified.	123.0	CFT	92/2	11316
3.	Providing and laying of precast P.C.C Kerb stone, size 450x300x150mm, including setting, joining and pointing in C:M 1:4 all as specified.	490.0	RFT	162/2	79380 -
4.	Earth filling as in ordinary or hard soil filling in foundation pipe trenches, shafts, wells independents holes, under floors or around plinth etc. 1.5m below or above, ground level (GL), with spoil obtained from excavation in trenches / over areas within 10m including water and compaction in 150mm layer and dressing to required profile and shape.	3686.0	CFT	6.So/	23959
5.	Providing and laying of C.C Paving stone 50mm thick in any colour, as in floors drive way, walk way etc, any pattern, design and any shape (hydraulically compressed) laid and joined in sand including 50mm thick sand bed as laying course all as specified.	700.0	SFT	76.30/-	53410 -
6.	Providing and fixing of false ceiling 24"x24"gypsum including all necessary fittings all as specified.	3143.0	SFT	122.50	385017.
7.	Providing and laying of national tiles laid and joint with neat cement 1:2 in any design and pattern all as specified.(dadus)	1122.0	SFT	152/3	170544
8.	P/Laying of wall finish, coat of graphics wall coating 1.5mm thick including SCRAPING of old surface of wall any colour straight and swirl in any texture all as specified.(internal)	7500.0	SFT	40/2	300,000.

	9.	Providing and laying of bath tiles in principle room bath glazed imported including all fittings of u.p.v.c pipes fixtures accessories i.e wash hand basin,water closet,(eurpeon) mirror,granite marble top,(all fixtures made by grohee.)all as	01 job		124500/	124500 -
	10.	specified.complete job. Providing and laying of two coats of distemper after the preparation of surface i.e scraping, filling rubbing all as specified.	1800.0	SFT	18/2	32400-
Ī	11.	Providing and fixing of aluminium door and windows deluxe model complete with glass and all necessary fittings all as specified.	82.0	SFT	675/.	55350 -
	12.	Repair of back side bath room including 03 nos bath with laying of tiles,false ceiling,wooden doors, aluminum window,all fittings of u.p.v.c pipes,fixtures i.c wash hand basin,water closet(imported)urinals etc. all as specified complete job.	01 job	EACH	275000/	275000
	13.	Repair of back side kitchen including laying of tiles, false ceiling, wooden doors, aluminum window, all fittings of u.p.v.c pipes, fixtures i.e sink, marble top(granite) kitchen accessories etc. all as specified complete job.	01 job	EACH	175000/	175000
	14.	Providing and laying of artificial stone face tiles as in front elevation.all as specified.	1988.0	SFT	165/2	328020
Man	15.	Electrical works such as holder, switch, socket, fan point, door bell, power plugs, light point, etc, including wire 3-29/7-29 where as required including lights all as specified.	120.00 NOS	EACH	1560/3	187200
Y	16.	P/Laying of wall finish, coat of graphics wall coating 1.5mm thick including SCRAPING of old surface of wall any colour straight and swirl in any texture all as specified. (external)	4550.0	SFT	42/,	191100-
	17.	P/L of tiles on external walls(national) laid and joint with white or colour cement 1:2 gray cement and including finishing complete.	1050.00 r	SFT	164/,	172200

ŝ			leit	UNCIPAL +	
18.	Construction of two nos security watch tower on the top of admin block front side 6x6 complete job.	01 job	EACH	130,000/	130,000/2
19.	Providing and fixing of wall bracket fans all as specified.(pak fan or equalent)all as specified.	50.0nos	EACH	3950/2	197500-
20.	Providing and fixing of precaust R.c.c shade complete with R.C.C Columns, beams, griders, lintel, CC plaster colouring for the use of car and motorcycle parking etc. all as apecified.	900.0	SFT	445/2	400500-
21.	Providing and laying of S.S GRILL for passage opening windows up to 2.5 feet height with gola complete with all necessary fittings all as specified.	100.0	RFT	2525/3	252500 -
	Total				3547652 -
	TOTAL AND SAY AMOUNT	IN MILLIO	N	\$ 1. SIN	3.547 M



Bussoi

Pusso

Ph:021-32812326, 021-32812343, Fax:021-32811217, E-mail:ptc.saeedabad.khi@gmail.com

Sub-Engineer.

Issued to m/s Shah & Com Pany



REPAIR / RENOVATION WORK OF PTC SAEEDABAD. REPAIR/RENOVATION WORK OF ADMIN BLOCK.

SCHEDULE BOOK DOCUMENT

S. NO.	DESCRIPTION	QUANTITY	UNITS	RATE	AMOUNT
1.	Excavation as in H/ Soil upto 1.5 m depth in foundation and pipe trenches, holes upto 1.5 m wide, in shafts, well and independent holes upto 30 sqm each and throw earth clear of edges of excavation within 10m all as specified.	367.50	CFT	8.0	2940
2.	Providing and laying of CC type B 1:4:8, using crushed and broken stone graded as specified.	123.0	CFT	120.0	14760
3.	Providing and laying of precast P.C.C Kerb stone, size 450x300x150mm, including setting, joining and pointing in C-M 1:4 all as specified.	490.0	RFT	204.0	99960
4.	Earth filling as in ordinary or hard soil filling in foundation pipe trenches, shafts, wells independents holes, under floors or around plinth etc. 1.5m below or above, ground level (GL), with spoil obtained from excavation in trenches / over areas within 10m including water and compaction in 150mm layer and dressing to required profile and shape.	3686.0	CFT	15.0	55290
- s.	Providing and laying of C.C Paving stone 50mm thick in any colour, as in floors drive way, walk way etc, any pattern, design and any shape (hydraulically compressed) laid and joined in sand including 50mm thick sand bed as laying course all as specified.	700.0	SFT	75.0	52500
1/6.	Providing and fixing of false ceiling 24"x24"gypsum including all necessary fittings all as specified.	3145.0	SFT	425.0	1335775
7.	Providing and laying of national tiles laid and joint with neat cement 1:2 in any design and pattern all as specified (dadus)	1122.0	SFT	170-0	190240
8.	P/Laying of wall finish, coat of graphic wall coating 1.5mm thick including SCRAPING of old surface of wall any colour straight and swirl in any texture at as specified.(internal)	7500.0	SFT	40.0	300,000

	Ċ.	2	U.S.	ICISNI D		
	9.	Providing and laying of bath tiles in principle room bath glazed imported including all fittings of u.p.v.c pipes fixtures accessories i.e wash hand basin,water closet,(eurpeon) mirror,granite marble top,(all fixtures made by grohee.)all as specified.complete job.	11021	each	75000	75000
	10.	Providing and laying of two coats of distemper after the preparation of surface i.e scraping, filling rubbing all as specified.	1800.0	SFT	15.0	27000
	11,	Providing and fixing of aluminium door and windows deluxe model complete with glass and all necessary fittings all as specified.	82.0	SFT	524.70	43025.40
	12.	Repair of back side bath room including 03 nos bath with laying of tiles,false ceiling,wooden doors, aluminum window,all fittings of u.p.v.c pipes,fixtures i.e wash hand basin,water closet(imported)urinals etc. all as specified complete job.	01 job	EACH	150000	150000
	13.	Repair of back side kitchen including laying of tiles,false ceiling,wooden doors,aluminum window,all fittings of u.p.v.c pipes,fixtures i.e sink,marble top(granite) kitchen accessories etc. all as specified complete job.	01 job	EACH	80000	80000
	14.	Providing and laying of artificial stone face tiles as in front elevation.all as specified.	1988.0	SFT	70.0	139160
Funkting	15,	Electrical works such as holder, switch, socket, fan point, door bell, power plugs, light point, etc, including wire 3-29/7-29 where as required including lights all as specified.	120.00 NOS	EACH	400	48000
1	16	P/Laying of wall finish, coat of graphics wall coating 1.5mm thick including SCRAPING of old surface of wall any colour straight and swirl in any texture all as specified. (external)	4550.0	SFT	40.0	182000
Nyu.	17.	P/L of tiles on external walls(national) laid and joint with white or colour cement 1:2 gray cement and including finishing complete.	1050.00	SFT	170	178560

Russe

		- 1/5	PRINCIPAL	*	
18.	Construction of two nos security watch tower on the top of admin block front side 6x6 complete job.	01 job	TARAC	50000	50000
19.	Providing and fixing of wall bracket fans all as specified.(pak fan or equalent)all as specified.	50.0nos	EACH	5070	2.53500
20.	Providing and fixing of precaust R.c.c shade complete with R.C.C Columns, beams, griders, lintel, CC plaster colouring for the use of car and motorcycle parking etc. all as apecified.	900.0	SFT	225	202500
21.	Providing and laying of S.S GRILL for passage opening windows up to 2.5 feet height with gola complete with all necessary fittings all as specified.	100.0	RFT	250	25000
	Total		⁼		35051504
	TOTAL AND SAY AMOUNT	IN MILLION	N	6. J 24	3.5051504

TOTAL AND SAY AMOUNT IN MILLION

A & COMPANY 19pm Proprietor

Bussoi Sub-Engineer.



Ph:021-32812326, 021-32812343, Fax:021-32811217, E-mail:ptc.saeedabad.khi@gmail.com

Furt fourt



OFFICE OF THE SSP/PRINCIPAL POLICE TRAINING COLLEGE SAEEDABAD, KARACHI.

Ph:021-32812326, 021-32812343, Fax:021-32811217, E-mail:ptc.saeedabad.khi@gmail.com

No. 8215-17 /PTC/Acett./2015/Karachi, Dated: 28-04-2015.

MINUTES OF MEETING HELD BY MR. JAVED ALI MAHAR, PSP SSP/PRINCIPAL POLICE TRAINING COLLEGE SAEEDABAD KARACHI, REGARDING REPAIR / RENOVATION WORK OF ADMIN BLOCK, 05 BARRACKS AND 05 BATHROOM BLOCK OF PTC SAEEDABAD KARACHI.

Following attended the meeting:-

- 01. Mr. Saqib Ibrahim, PSP, Vice Principal PTC Saeedabad Karachi.
- 02. Mr. Muhammad Rizwan Sub Engineer Works Department Karachi
- 03. M/S Al Hakeem Builders
- 04. M/S Al Zaman Construction Co.
- 05. M/S Rajput Associates
- 06. M/S The Best Engineering Co.
- 07. M/S Shah & Co.
- 08. M/S Bushra & Brothers. (Absent)

A meeting under the chairmanship of SSP/Principal, Javed Ali Mahar, Police Training College Saeedabad, Karachi was held at Conference Room for ascertaining the lowest bidder for Repair & Renovation work of PTC Saeedabad, Karachi. The meeting was to consider the following points:-

AGENDA	ACTION TO BE TAKEN
 To ensure for quality/standard of work regarding the Repair / Renovation Work at Police Training College Saeedabad, Karachi for the current financial year 2014-15. To cpen tender in front of all the bidders. To ascertain the lowest bidders for Repairing & Renovation Work at P.T.C. Saeedabad, Karachi. To ensure that the bidding takes place in a transparent manner. 	SSP /Principal P.T.C. Saeedabad, Karachi.

Committee members were directed to monitor the standard of work & quality and the meeting ended with the vote of thanks.

(JAVED ALI MAHAR), PSP SSP / Principal Police Training COLLEGE Saeedabad Karachi.

Copy to all committee members for information and necessary action. Copy to I/C-General Branch P.T.C. Saeedabad, Karachi.